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Length : ~45 m 

Radius : ~12 m 

Weight : ~ 7000 tons

Electronic channels : ~ 108

Tracking (|ηηηη|<2.5, B=2T) :

Silicon pixels and strips

Transition Radiation Detector

(e/π separation)

Calorimetry (|ηηηη|<5) :

EM : Pb-LAr

HAD: barrel:   Fe/scintillator

forward: Cu/W-LAr

Muon Spectrometer (|ηηηη|<2.7) : 

air-core toroids with muon chambers

���	#��#�	 �
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~1000 charged particles produced 

over |η|<2.5 at each crossing.



����������	
�����������������������������������������
����
� ����������� 13/52

�����������������
�����1

http://atlaseye-webpub.web.cern.ch/atlaseye-webpub/web-sites/pages/UX15_webcams.htm
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Simulation ATLAS cavern 0.01 seconds

ATLAS 
Preliminary

@���
���������������������������G����3H
����������������������������������G�3H
���������
������
�������������!G�3H

4���.

� (�� �����$����-�*����$

Cosmics : tracks in Pixels+SCT+TRT

• Useful statistics for debugging .

• Check relative position

• First alignment studies: 
(down to ~ 10 µm in parts of Pixels/SCT)

• First calibration of R-t relation in straws
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TRT

Tile calorimeterMuon chambers
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